Basic algebra 1.2
Evaluate expressions using the order of
operations

evaluate (simplify) 34+59 Lol
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What is the value of 9-5 + 4?
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Reminder: the fraction bar is also a grouping symbol.



In algebra, statements that are true for any number are called
properties. Four properties of equality are listed in the table below.

EI
Equality
— i

If a = b, then a may If9+2=11,then 9 + 2 may
be replaced by b. be replaced by 11.

Reflexive a=a 21 =21 5 :_S
 symmetric [ £10—4+6,thend +6=10.| % = 7

If a = @Gind D)= c, f3+5=8and8 = 2(4),
m theha = c_—" then 3 + 5 = 2(4).

X+S = (22— [a = X8

They are always true...just like gravity!
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Examples o the . pquali own by each statement.

& ’Flf9+3=12,fh9“12=9+3' S\lem“-")
Raed.

S\,W\M & .z=8, hen -+q:=8+‘4. 7

Trang - T

e. If10-3=4+3a

= 7 then10 —3 ="7.



Additive
Identity

Multiplicative
Identity

Multiplicative
Property of
Zero

Nozo

—0 Find the value of 503 — (6 20 + 14. Identify the properties used.

Sem

- a

en 0 is added 45+0=45
o any number a, — an! number_ 0+6=6
. a+0=0+a=xa : : :
the sum is a. e 0 is the identity.
When a number a 12-1=12
is multiplied by 1, C:-"_'j""1 B {-E=5
the product is a. — 1 is the identity.
If 0 is a factor, For any number a, 1-0=0
the product is 0. a-0=0-a=0. 0-23=10
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% Evaluate each expressionifa=9and b =1.

(-9

7{3{_..(7“) Subs
7+0  Subs

boss aad 1d.
’1? 1+4)—-3-b
q+4)-3-| Subs.

Swhs 13-3 =1, Subys
Evaluate each expression if m =8 and p = 2.
h.6-p—m=p i. [m+23+p)]=+2

b-2~3T 2 Suts
| at¢  Subs
8 SML»;






